231006.notebook October 05, 2023

Consider the parabola y = 6x — x2.

(a) Find the slope of the tangent line to the parabola at the point (1, 5).

(b) Find an equation of the tangent line in part (a).

(c) Graph the parabola and the tangent line.
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A ladder 16 ft long rests against a vertical wall. Let 8 be the angle between the top of the ladder and the wall and let x be the

distance from the bottom of the ladder to the wall. If the bottom of the ladder slides away from the wall, how fast (in ft/rad)

does x change with respect to 8 when 8 = %?
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Find the derivative of the function.
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